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This mark scheme is published as an aid to teachers and students, to indicate the
requirements of the examination. It shows the basis on which marks were awarded by
examiners. It does not indicate the details of the discussions which took place at an
examiners’ meeting before marking commenced.

All examiners are instructed that alternative correct answers and unexpected approaches in
candidates’ scripts must be given marks that fairly reflect the relevant knowledge and skills
demonstrated.

Mark schemes should be read in conjunction with the published question papers and the
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Annotation Meaning

BP Blank page

Correct point in comprehension or completely correct section of translation

Error in comprehension

End of section

Omission of words or part-words

Slight error

Major error

Consequential error

Repeated error

&K
/
[—

Harmless addition
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Subject Specific Marking Instructions

Guidance on applying the marking grids for translating into English
The general principle in assessing each section should be the proportion (out of 5) of sense achieved.

The passage is divided into 11 sections, each worth 5 marks. Assessors award up to 5 marks per translated section according to the following grid:

Marks Description

Accurate translation with one slight error allowed
Mostly correct

More than half right

Less than half right

Little recognisable relation to meaning of the Greek
No response, or no response worthy of credit

o= [(N|Ww|hO;

One approach for each section is given. Acceptable alternatives will be illustrated during Standardisation, but examiners should assess on its own merits
any approach that satisfactorily conveys the meaning of the Greek — the crucial consideration being the extent to which every Greek word is satisfactorily
rendered in some way in the English.

The determination of what a “slight” error is only necessary when it is the only error in a section; this distinction will then determine whethera mark of 5 or 4
is appropriate. Where marks of 4, 3, 2, 1 and 0 are applicable, the overall proportion of meaning conveyed in the section is the only consideration. The term
“major” error has been used here to determine an error which is more serious than a “slight” error.

The classification below should be seen only as a general guide, the intention of which is to maintain standards year-on-year. Lead markers should
consider each instance on its own merits in the context of the passage and the section.

Itis likely that some of the errors below may be regarded as “major” if they appear in a relatively short and straightforward section, whereas in longer or
more complex sections they are more likely to be a “slight” error.

The sort of errors that we would generally expect to be considered as a “slight” error are:
e a single mistake in the translation of a verb, for example incorrect person or tense
e vocabulary errors that do not substantially alter the meaning

e omission of particles that does not substantially alter the meaning (although in certain cases the omission of a particle may not count as an error at all,
most especially with pev... 6¢)
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The sort of errors that we would generally expect to be considered as a “major” error are:

e more than one slight error in any one verb

e vocabulary errors that substantially alter the meaning

e omission of a word or words, including alteration of active to passive if the agent is not expressed

e missed constructions

e alteration in word order that affects the sense

The final decisions on what constitutes a “slight” and “major” error will be made and communicated to assessors via the standardisation
process (after full consideration of candidates’ responses) and these decisions will be captured in the final mark scheme for examiners and
centres.
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Guidance on applying the marking grids for translating into Greek

The general principle in assessing each sentence should be the proportion (out of 5) of sense achieved.

Each sentence is worth 5 marks. Award up to 5 marks for each sentence according to the 5-mark marking grid below:

Marks | Description

Accurate translation with one slight error allowed
Mostly correct

More than half right

Less than half right

Little recognisable relation to meaning of the English
No response, or no response worthy of credit

o= [(N|W|h~|O,

There are many acceptable ways of translating the English sentences into correct Greek. Acceptable alternatives will be agreed at Standardisation, but
examiners should be ready to accept other versions that accurately render the meaning into Greek.

The determination of what a “slight” error is only necessary when it is the only error in a section; this distinction will then determine whethera mark of 5 or 4
is appropriate. Where marks of 4, 3, 2, 1 and 0 are applicable, the overall proportion of meaning conveyed in the section is the only consideration. The term
“major” error has been used here to determine an error which is more serious than a'slight' error. The classification below should be seen only as a general
guide, the intention of which is to maintain standards year-on-year. Lead markers should consider each instance on its own merits in the context of the
sentence.

The sort of errors that we would generally expect to be considered as a “slight” error are:
e a single mistake in a word

¢ the omission of an uninflected word

e omission or incorrect use of a breathing

The sort of errors that we would generally expect to be considered as a “major” error are:
e more than one mistake in a word
¢ the omission of an inflected word

The final decisions on what constitutes a “slight” and “major” errors will be made and communicated to assessors via the standardisation process (after full
consideration of candidates’ responses) and these decisions will be captured in the final mark scheme for examiners and centres.
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Question Answer Mark Guidance
The passage has been divided into 11 sections, each worth 5 marks.
Award up to 5 marks per translated section according to the 5-mark
marking grid found above.
1 (i) TE@ToV Hév 0V O Kortiag t@ Onoapével duoyvauwy te kal @ilog 5 Ac_ce_pt: Critias_, and Theramenes were of the same
NVv- €mel ¢ avTog €BoVAETO TOAAOVS ATtoKTE tVELY opinion and friends.
Accept firstly’ or ‘in the beginning’ for mowrov.
And so, (at) first Critias was (both) of the same opinion as and a Accept ‘to put many to death’ for moAAoUg
friend to/with/of Theramenes; but when he (himself) [Critias] was ATTOKTEVELV.
wanting/wanted to kill many (men), Accept ‘friendly’ for giAoc.
Major
Causal rather than temporal translation of ¢ et d¢,
missing the contrast with towtov pév.
emel 0¢ = ‘then when’ =1 major.
avtoc taken as the object = major error.
(ii) &te QuYV OTTO TOL dMjUov, O d¢ Bnoapévng avtékonte, Aéywv Ot 5 | Accept ‘democracy’ for drjuov.

seeing that/since he had been banished by the people, Theramenes
resisted/opposed (him), saying that

Accept literal translation of &te puywv.
Accept omission of 6tuif the indirect statement is
clear; otherwise, major.

Slight

‘Fleeing’/'having fled’/'he had fled’ (vel sim)for
PLYWV.

ate ='‘in as much as’

Major
Any other translation (or omission) of ate.
vmo = from’.
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(iif)

OUK €lKOC €l AMOKTEVEY TV VTTO TOL U0V TIIWUEVOV, TOUG 08 KAAOUG
KAya@oUg pndev Kaov QyalOpevov.

it was not reasonable to kill someone/anyone (who was) honoured by
the people but (was) doing no harm/evil to the fine and good (men).

Accept any reasonable translation of kaAoug
kayaBovg (e.g. ‘the fine/great and the good’).
Accept ‘respected’ for Tipwpevov.

Accept ‘aristocrats’ for toug d¢ kaAovg kayabovg.

Slight
‘Would be’ for ein.
‘Some/certain (men)’ for Tiva.

Major

‘Those’ or ‘them’ for twva.

Maximum of 2 major errors for mistranslation of toug
O KaAoLG KA yaOolg UNdEV KAKOV €QYALOUEVOV.

(iv)

0 0¢ Kottlag dmekQivato 6t o duvatov 0TIV TOIG TAEOVEKTELY
ovAouévolg

(But) Critias replied that it was not possible/impossible for those who
want(ed)/those wanting to gain power

Accept present tense translation of éotiv.

Slight
Infinitive taken with o0 duvatov éotiv.

Major

‘He was not/would not be able’ for ov duvatov
EoTiv.

Failure to render article + participle (toig
BovAouévoig) correctly.

(v)

HT) OVK EKTTOOWV TToLelo DAt TOUG DUVATWTATOUG KWAVELV.
AToOvNoKOVTWY 0¢ TOAAWV KAl AdiKwS, TMAALY EAgyeV O
Onoapévng

not to get rid of those who were most able to hinder (them).
But with many being killed and unjustly, Theramenes said again

Ignore errors as aresult of ovk.
Accept ‘even’ or ‘also’ for kai.

Slight
Omission of superlative in tovg duvatwtatovg.
Omission of kad.

Major

Translation of ur as ‘if or from’.

Error of tense with the participle drmtoOvnokovtwv.
Mistranslation of maAw.
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1 (vi) OtL el 1) AfPovTo Ikavovs g KOWWVOUS TWV TTOAYHATWY, 5 Accept ‘got’ or ‘captured’ for Ajorvro.
advvatov £é00Lto TV OALyaQ oy HéVELY. Accept genitive translation of tov moayudtwv, if it
is recognised as dependent upon kowvwvovg.
that_unle§s they took/admitteq er)ough peop_le as pgrticipants of/in the Accept ‘endure’ for péverv.
affairs/things/matters of the city, it would be impossible forthe
oligarchy to remain. Slight
Omission or mistranslation of cc.
Major
Translating tnv oAtyapxiav as object rather than
subject of pévew.
(vii) énerta pévrot Kortiag kat ot AAAOL TOLAKOVTA, 1§01 OBOVLLEVOL TOV 5 Accept ‘the other’ for ot dAAoL
Oneapévny,
Major
Then however, Critias and the rest of the Thirty, already/now fearing ‘Critias and thirty others’
Theramenes,
(viii) KATAAEYOoLOL TOLoX A0V TOUG teBEEOVTAC TV TOAYUATWVY: O O 5 Accept present tense translation for kataAéyovot.
ab Onoapévng kal mEOg TavTa EAeyev OTL Accept ‘(who were) to share’ for toug peBéovrac.
Accept ‘in response’ for mpog tavta.
enlisted three thousand (who were) going to share in the
government/affairs of the city. But Theramenes, in turn/again to these Slight
things also said that Translating only one of a¥ or kad.
‘In addition to these things’ for mpog tavta.
Major
Failing to recognise future tense of pe0é&ovtac.
Maximum one major error for mpog tavta.
(ix) Atomov el ToUG BeATIOTOVS TOLOXIALOUS TV TOALTV KOWWVOUS 5 Accept ‘the best three thousand citizens’.
riorjoaoOat .
Slight
it was strange/paradoxical to make the best three thousand of the Translation of tomoacOaias ‘value'.
citizens participants ‘Would be’ for ein (beware potential repeated error
from (iii)).



http://www.perseus.tufts.edu/hopper/morph?l=w%28s&la=greek&can=w%28s1&prior=e)ch/negken
http://www.perseus.tufts.edu/hopper/morph?l=w%28s&la=greek&can=w%28s1&prior=e)ch/negken
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(x) WOTEQ TOV AQLOHOV TOUTOV EXOVTA TTAVTAS KAAOVG Kal ayaOovg 5 Major
‘Because’, ‘so that’ or any other mistranslation of
as if/as though this number had/contained all fine and good (men) WOTEQ.

Omission of tovtov.

(xi) Kal womeQ oVT €EW TOVTWV gTIOLdAIOLE, OUT’ EVTOS TOVTWY KAKOUG 5 Accept ‘it was not possible’ for oiov te ein
olov te ein yevéoOal
Major
and as if/though there could neither be excellent men/people outside ‘Just as...so’ for womep (X) ... womep (Xi)is one

these, nor bad men within them. major error in section (xi).
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2 (a) They got up earlier (1). ‘They marched earlier’ = 1
2 (b) | (i) | cross(1)agorge. ‘go/pass through agorge’ = 1
2 (b) | (ii) | they were afraid (1) that the enemy might attack them (1) whilst they ‘as the enemy might attack them whilst they were
were crossing (1) crossing’ = 2/3
Beware repeated error from 2 b (i).
2 (c) A thousand cavalry/horsemen (1) and four thousand bowmen/archers 5000 in total = 1
(1) ‘horsemen and archers’ - 1
2 (d) In his earlier/previous attack (1) having (just) afew men (1) he nedoBev needs to be acknowledged for 1 mark.
suffered nothing (1) but (thoughtthat he had) done many bad things. Accept ‘in the attack before(hand)’
(1) ‘Did not suffer any loss’ = OK
The contrast between pev ovdév and moAAx €
needs to be appreciated for 1 mark here.
2 (e) When the Greeks had crossed over (1) and were eight stades away
(fromthe gorge) (1).
2 (F) | (i) | (Some of)the light armed troops and hoplites (1) were ordered to Do notinsist on partitive genitive.
pursue (the enemy) (1); the cavalry were told (1) to pursue boldly/be Accept ‘the cavalry were asked/ordered’.
bold (1) Do not accept ‘fight boldly’.
2 (F) | (ii) | alarger (1) force/power (1) would follow them. (1) Comparative (peiCovog) required for 1 mark.
2 (9) The enemy did not wait for their pursuers (1) butfled Accept ‘into’ or ‘through’ for & .
killed/died (1); of their cavalry [about/up to] eighteen (1) were taken is not on DVL.
alive in the gorge (1).
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A single omission of a breathing, paragogic
nu or iota subscript in any word = slight error
More than one error of this sortin asingle
word is likely to be a major error. If a
candidate includes no breathings at all, there
will be a maximum of one major error per
sentence.

3 (a) TV TOAE WV TOV TOTAHOV daPAvTwV €do&e Tolg AONvalols tw 5 Accept dixBenicotwv.

OTOATOTTEDW TEOOPAAAELY. Accept émitiBecOay/ébéobar (+ dative).

3 (b) 0 OTOATI YOG €kéAgvoeV aAUTOV elTely O TLEmabev. 5 Accept optative in historic sequence (6 Tt
ntaOot)
Major
Translating ‘he had suffered with a pluperfect
(i.e. émemdVOEeL)

3 (c) 0 YéowV 0VK €1 OdA0KELY (TOVGC) Veaviag XONUATWY EVeka 5 Accept a phrase using po0dc.

3 (d) 0TovdAg deE&pevol, ovkeTL PoBovEOa ) ATtoAADE O 5 Accept nom fem pl ending on the participle;
accept un amoAAotpeOa.

3 (e) ¢av pe amokteivte PAGPeTe HGVov LPAS AVTOG 5 Slight
Accept ei + future indicative in protasis.
Major
Future indicative pAdyete is essential. No
other tense/mood allowed.




OCR (Oxford Cambridge and RSA Examinations)
The Triangle Building

Shaftesbury Road

Cambridge

CB2 8EA

OCR Customer Contact Centre

Education and Learning

Telephone: 01223 553998

Facsimile: 01223 552627

Email: general.qualifications@ocr.org.uk

WWW.OCr.org.uk

For staff training purposes and as part of our quality assurance

programme your call may be recorded or monitored

Oxford Cambridge and RSA Examinations
is a Company Limited by Guarantee
Registered in England

Registered Office; The Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA

Registered Company Number: 3484466
OCR is an exempt Charity

OCR (Oxford Cambridge and RSA Examinations)
Head office

Telephone: 01223 552552

Facsimile: 01223 552553

© OCR 2019

1 Cambridge

Www.xtrapapers.com

o

v

UKAS

MANAGEMENT
SYSTEMS

001



mailto:general.qualifications@ocr.org.uk
http://www.ocr.org.uk/

